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i2=-1,(0?, ®, 1) are the cubic roots of one .

(i, T , K) are a right set of unit vectors .
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15 player participate in a swimming
competition. How many ways can the first,
second and the third places be arranged?
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The exponential form for the number 41 is
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IfA =2i—3j,B = —T+4f are c‘-\;"—-}} Y=IQ\§\SL
represented exactly by two adjacent sides u*"l*” 03"“ ~ ¢ f\f“ =
Mted #0550 (B oy gl
S ge dﬂw do-luwe OB GU
Sk B> 9 oo = 32N

@ 7 b 13 @) v D
© s @ 3v2 vy O o &

in a parallelogram ,then the area of the
parallelogram — ......... area unit

wwyjailledg o



n Answer one of the following two items:
(A) In the opposite figure:

1 LS (G B8N G | (e i
& 513 peld sl (D)

Find the measure of the 8 Shady oS s
angle between the diagonal C o5 5 LS 3ue Gl
of the cube and the diagonal NERIRCEI
of 1ts base as shown in the 222 —Y N ()
figure. = Tom - I ERITI

(B) OABC is a triangular
pyramid with vertex 0(0,0,0) and
its base is the triangle ABC such that
A(a,0,0), B(0,b,0),€(0,0,c) If the
area of the base of the pyramid ABC = K
area unit, the areas of its lateral faces
are [ ,m ,n area unit Prove that:
k*=12+m?+ n?
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If"C5:"C3=9:2,thenn—=........

@ 15 ® 7
© 13 @ 9
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7 . " .
. The equation of the plane passes through il Hl 6 gndd! Aolas

the point (1,—2, 5) and the vector (F eV ev) axzdly (0 c¥-c )
(2,1, 3)isperpendicular to it is: ......... | = e B A $35es
@ 2x+y+3z=1 V=E v d ot Y @
b 2x+y+3z=15 Voo Xt ot o @
@ x+2y+5z=15 Vo= ot oY+ e @
@ x+ty+z=4 AT O,
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n Answer one of the following two items: 1 OGN 05 p3aN) G| e

_ 8 . o A B -
(A) Put the number Z = TR the trigo s g >3l o (")

nometric form, then find its square . .
’ 1 e darsl 5 4AIN 8 )l e

A1y Al 3 fn A
M e sl ()

roots in the exponential form.

(B) Find the value of the expression :

[k -tk + 1)(02]8
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In the expansion of (1 + bx )®,

the coefficient of the sixth termis .......

@ o¢,
© 9¢, ps

055G (rot V) 88as
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The distance between the centers of the
two spheres:
(x—=2Y+(@y+4)*+(z-2)?=1,
(x+4)+(@y—-4)*+(z-2)?%=4
equals ........... length unit

@ s ® 6
© 8 @ 10

SN 635 a ()
A= (V-E)+ (o) + (Y- 0)
-8+ )+ )
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The distance between the plane & grnad| S
2x — 3y + 6z + 14 = 0 and the origin dads ye e =VEFETF o V- Y
point equals ............... length unit Jsbo 85 e Sbus SVl
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Solve the following system of linear QW ddasdt Nl

b o
{
equations using the inverse matrix: B 5aaal) o 2 Sl plasel,
X+2y=4,3y+z=2,x—-5z=7 (Y= EH e b=Vt
V=Fo-
15
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If Z=+2(-cos60°+isin60°), then
the principle amplitude for the number Z

.............

21
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(:..

vector, then one of the values of 6 = ..........

T
® 3
© zero

, 9) are the direction angles of a

®
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Find the different forms of the equation Lasd) Dolae) izl ) gl sl

of the straight line passes through the two ezt L M\
points (4,3 ,4)and (6,—-1,-2). (Y- V-eT) e (£ e¥ese)
19
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the plane which intercepts the coordinate
axes x ,V, z the parts 2 , 4 , 5 respectively .

& o) Dslae) dalisnd| o)t
¢ oo Syl Jj\zﬂ&ad&ism
g_».ﬁjﬁ\é& 0ct Y ;—\ﬁw\ 5(&

wwyjailledg o



The equation of the straight line passes
through the point (2,0, —1) and its

@x—zzl:ﬂ

1 -1 -3
x=2 _y _ z+1

-1 1

®
@ x—1=y+1=E
@

2 -1

(1= ¢ ¥) il 1 i) Dsles

(Y- V- 0\ )= B anlos! ascies

\—f—& =k.)a
- \ -
V1€ =
\ \ -
V-f—& —\—{—up
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19 X )
. Prove that there is no term free of x in the

expansion of (x? — i )1* then find the ratio
between the seventh term and the sixth term

in this expansion when x = —1
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